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h—8E Rl - EMEEE Basic Computations 5

— . HET BB RIEE R HE 2,3,4,5,6,8,9,10 BLEE o Determine whether the following numbers
can be divisible by 2,3, 4, 5,6, 8, 9, 10 respectively.

(a) 1
(b) 12
R The%
(c) 200
AEREIE Y S S 1] - S
(d) 2024

(e) 9898989898
(f) 123456789

(g) 99999999990

RN BB IRE - WS EECEUEAF R o Find the prime factorizations of the

followmg numbers and express in index notation.

(a) 12
(b) 36
(c) 70
) s1
(e) 242
() 273

(g) 512
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= . BT RE - Complete the following questions.

1. (a 3K 12,32,56 Ay H.CF. &z LCM. -
Find the H.C.F. and L.C.M. of 12, 32,56 .
(b) K 10,18,20,48,54 By H.C.F. &z LCM. -
Find the H.C.F. and L.C.M. of 10, 18,20, 48, 54 .

2. (a) K 2°x5x11%, 3*x52x11x13,2*x13> Ay H.CF. & L.CM. -
Find the H.C.F. and L.C.M. of 2°x5x11?, 3*x5*x11x13, 2*x13* .
(b) K 22x10*x11%, 2*x3* x5 x15,6x8x13 By H.C.F. &t L.CM. -
Find the H.C.F. and L.C.M. of 2*x10*x11%, 2* x3*x5*x15, 6x8x13 .
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(a) NEEMT[#E kR Not divisible by any numbers
(b) 2,3,4,6

(c) 2,4,5,8,10

(d) 2,4,8

(e) 2

(f) 3,9

(g) 2,3,5,6,9,10

(a) 2°x3
(b) 2°x3"
(c) 2x5x7
(d) 3

(e) 2x11?
(f) 3x7x13
(2) 2

1. (a) HCF.=4,L.CM.=672
(b) H.CF.=2,L.C.M.=2160

2. (a) H.CF.=1,L.C.M.=220849200
(b) H.C.F.= 16, L.C.M. = 254826000
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